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C3 Paper J – Marking Guide 
 
1. (a)  cos2 x = ( 3  − 1)2 = 3 − 2 3  + 1 = 4 − 2 3         M1 
    cos 2x = 2 cos2 x − 1 = 2(4 − 2 3 ) − 1 = 7 − 4 3        M1 A1 
 

 (b)  2(cos y cos 30 − sin y sin 30) = 3 (sin y cos 30 − cos y sin 30)    M1 A1 
    3 cos y − sin y = 3

2 sin y − 1
2 3 cos y          B1 

    3
2 3 cos y = 5

2 sin y 

    tan y = 3
2 3  ÷ 5

2  = 3
5 3               M1 A1 (8) 

 
 

2. (a)  f(x) = (x − 3
2 )2 − 9

4  + 7 = (x − 3
2 )2 + 19

4           M1 A1 

    ∴ f(x) ≥ 19
4                   A1 

 

 (b)  = g(11) = 21                  M1 A1 
 

 (c)  fg(x) = f(2x − 1) = (2x − 1)2 − 3(2x − 1) + 7         M1 
    ∴ 4x2 − 4x + 1 − 6x + 3 + 7 = 17 
     2x2 − 5x − 3 = 0                A1 
     (2x + 1)(x − 3) = 0               M1 
     x = 1

2− , 3                  A1   (9) 
 
 
3. (a)   
 
 
              M1 
 
 
 
 
 

    ∴ f(x) = x2 + 4x − 4 + 2
2 5

3 3
x

x x
−

− +
, A = 4, B = −4, C = 2, D = −5   A3 

 

 (b)  f ′(x) = 2x + 4 + 
2

2 2
2 ( 3 3) (2 5) (2 3)

( 3 3)
x x x x

x x
× − + − − × −

− +
         M1 A2 

    x = 1  ⇒  y = −2,  grad = 5 
    ∴ grad of normal = 1

5−               M1 

    ∴ y + 2 = 1
5− (x − 1)               M1 

     5y + 10 = −x + 1 
     x + 5y + 9 = 0                 A1   (10) 
 
 

4. (a)  d
d

x
y

 = 1
2 sec 

2
y  tan 

2
y                M1 

    0 ≤ y < π  ∴ tan 
2
y  ≥ 0  ∴ d

d
x
y

 = 1
2 sec 

2
y 2

2
sec 1y −  = 21

2 1x x −   M1 A1 

    d
d
y
x

 = 1 ÷ d
d

x
y

 = 
2

2

1x x −
              M1 A1 

 

 (b)  d
d
y
x

 = 
1
21

2 (3 2cos )x −+ × (−2 sin x) = − sin
3 2cos

x
x+

        M1 A1 

    x = π3 ,  y = 2,  grad = 1
4 3−              M1 A1 

    ∴ y − 2 = 1
4 3− (x − π3 )  [ 3 3 x + 12y − 24 − π 3  = 0 ]   M1 A1 (11) 

 

 x2 + 4x − 4
x2 − 3x + 3 x4 + x3 − 13x2 + 26x − 17

 x4 − 3x3 + 3x2

   4x3 − 16x2 + 26x
   4x3 − 12x2 + 12x
    − 4x2 + 14x − 17
    − 4x2 + 12x − 12
     2x − 5
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5. (a)  f(x) > 5                   B1 
 

 (b)  y = 5 + e2x − 3 
    2x − 3 = ln (y − 5)                M1 
    x = 1

2 [3 + ln (y − 5)]                M1 

    ∴ f −1(x) = 1
2 [3 + ln (x − 5)],  x ∈    ,  x > 5         A2 

 

 (c)  x = f −1(7) = 1
2 (3 + ln 2)               M1 A1 

 

 (d)  f ′(x) = 2e2x − 3                  M1 
    grad = 4                   A1 
    ∴ y − 7 = 4[x − 1

2 (3 + ln 2)]   [ y = 4x + 1 − 2 ln 2 ]     M1 A1 (11) 
 
 

6. (a)  LHS ≡ 2cos 2
sin 2

x
x

 + sin
cos

x
x

               M1 

        ≡ cos 2
sin cos

x
x x

 + sin
cos

x
x

               M1 

        ≡ 
2cos 2 sin

sin cos
x x
x x
+                 A1 

        ≡ 
2 2 2(cos sin ) sin

sin cos
x x x

x x
− +               M1 

        ≡ 
2cos

sin cos
x

x x
 

        ≡ cos
sin

x
x

 

        ≡ cot x ≡ RHS                A1 
 

 (b)  cot x = cosec2 x − 7 
    cot x = 1 + cot2 x − 7                M1 
    cot2 x − cot x − 6 = 0 
    (cot x + 2)(cot x − 3) = 0               M1 
    cot x = −2  or  3                 A1 
    tan x = 1

2−   or  1
3                 M1 

    x = π − 0.4636  or  0.32 
    x = 0.32, 2.68 (2dp)                A2   (11) 
 
 
7. (a)  f(x) ≥ 0                   B1 
 

 (b)  = f(0) = 5                   M1 A1 
 

 (c)  fg(x) = f [ln (x + 3)] = 2 ln (x + 3) − 5          M1 
    ∴ 2 ln (x + 3) − 5 = 3 
     2 ln (x + 3) = 2, 8                M1 
     ln (x + 3) = 1, 4                A1 
     x = e − 3, e4 − 3                M1 A1 
 

 (d)  let  h(x) = f(x) − g(x) 
    h(3) = −0.79,  f(4) = 1.1               M1 
    sign change, h(x) continuous  ∴ root           A1 
 

 (e)  x1 = 3.396, x2 = 3.428, x3 = 3.430, x4 = 3.431         M1 A2 
 

 (f)  h(3.4305) = −0.000052,  f(3.4315) = 0.0018         M1 
    sign change, h(x) continuous  ∴ root  ∴ α = x4 to 4sf       A1   (15) 
 
 
                         Total  (75) 


	For Edexcel
	
	GCE Examinations
	Advanced Subsidiary


	Core Mathematics C3
	
	Paper J
	MARKING GUIDE


	C3 Soloman Press -MS - Copy.pdf
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page




